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0.360 1.189 0.614 0.788 0.273 2.464 0.517 1.827 0.537 0.374 0.449 0.262
0.448 0.971 0.372 0.898 0.411 0.348 1.925 0.550 0.622 0.610 0.319 0.406
0.413 0.767 0.385 0.674 0.521 0.603 0.533 0.662 1.177 0.307 1.499
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import pandas as pd - 20| Ch3 95% ME|TFZHE (0.5176, 0.9152)
import numpy as n

froFr)n scipy.Stp:ts imzort norm - JE‘IEE ”E 95% HEI_J'E-','—SOIIA-I (0‘5176'()‘9152)0"

datal = pd.read_csv("http://kanggc.iptime.org/book/data/chap10-2.csv") _J_.I\_-é-l-}“ E|:|I .
datal

varl = datal['varl']

datal.describe()

print("Data Frame of datalis: ",f'\n{datal}\n')

print("Summary Statistics of datalis: ", f'\n{datal.describe()}\n')
xbar = np.mean(varl)

z = norm.ppf(0.975, 0,1)

Icl1 = xbar - z*(0.6/np.sqrt(35))

ucll = xbar + z*(0.6/np.sqrt(35))

print("The z value is :", z)

print("The Lower Confidence Limit is :", Icl1) The z value is : 1.959963984548854

The Lower Confidence Limit is : @.51765194335687294

print("The Upper Confidence Limitis :", ucl1) The Upper Confidence Limit is : 8.9152051995064132
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import pandas as pd
import numpy as np

from scipy.stats import t

datal
varl = datal['varl']
varl.describe()

print("Data Frame of datalis: ",f'\n{datal}\n')

n = len(varl)

s = np.std(varl, ddof=1)

xbar = np.mean(varl)

t19 = t.ppf(0.975, 19)

Icl1 = xbar - t19*(s/np.sqrt(n))

ucll = xbar + t19*(s/np.sqrt(n))

print("The t value is :", t19)

print("The Lower Confidence Limit is :", Icl1)

print("The Upper Confidence Limit is :", ucll)

print("Summary Statistics of datalis : ", f'\n{datal.describe()}\n')

datal = pd.read_excel("http://kanggc.iptime.org/book/data/chap10-2-1.xlsx")
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import numpy as np

import scipy.stats as stats

time = [66, 37, 18, 31, 85, 63, 73, 83, 65, 80]
print("Data of time variable is :", time)

df=len(time)-1

s2 = np.var(time, ddof=1)

chi_u = stats.chi2.ppf(0.975, df)
chi_I = stats.chi2.ppf(0.025, df)

print("Upper Critical Value of Chi2 w/ df=15 is :", chi_u)
print("Lower Critical Value of Chi2 w/ df=15 is :", chi_l)

LCL = (df*s2/chi_u)
UCL = (df*s2/chi_l)

print("Lower Value of 99% Confidence Interval is :", LCL)

print("Upper Value of 99% Confidence Interval is :", UCL)
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(259.0, 1824.514)
OlA] (259.1, 1824.514)0]|

”F'pPr‘ Critical Value of Chi2z w/ df=15 is : 19.82275779864163
Critical Value of Chi2 w/ df=15 is : 2.7003894999803584

Lower Value of 95% Confidence Interwval is : 259.8801658733481

Upper Value of 95% Confidence Interval is : 1824.514574s7860811




